Quiz 2 Solution

June 17 2019

/ 27 — 2325 + 622* — 8223 + 10122 — 682 + 10
x
7 — 728 + 1925 — 3324 + 5022 — 5022 + 322 — 24

Solution:

/ 7 — 728 + 192° — 33z* + 5022 — 5022 4+ 32z — 24
27 — 726 + 1925 — 3324 + 5023 — 5022 + 322 — 24
Tab — 422° + 952% — 13223 + 15022 — 100z + 32
27 — 726 + 1925 — 3324 + 5023 — 5022 + 32z — 24
x2 42
+ dx
7 — 728 + 1925 — 3324 + 5022 — 5022 + 32z — 24

14 1In|z” — 72% + 1925 — 332 + 5023 — 5022 4 322 — 24
/ )

+ dx

27 — 728 + 1925 — 3324 + 5023 — 5022 + 32x — 24

Factor the bottom:

2 |1 -7 19 -33 50 -50 32 -24
| 2 -10 18 -30 40 -10 24

(x —2)(2® — 52® + 9z* — 1523 + 2022 — 12z + 12)

1 5 9 -15 20 -10 12 |0

2 |1 -5 9 -15 20 -10 12
| 2 6 6 -18 4 -12

1 -3 3 -9 2 -6 |0
(v —2)%(x® — 32* + 327 92° + 22 — 6)



3 /1 3 3 9 2 6
| 3 0 9 0 6

1 0 3 0 2 |0
2

(x —2)%(z — 3)(z* + 322 + 2)
(x —2)%(x — 3) (2% + 1) (2% + 2)

Now use pfd on:
% +2
(x —2)%(x — 3) (22 4+ 1)(2? 4 2)

or

Then:

1 A B c +Da:+E
(r—2)2(z—-3)(z2+1) z-2 (x—-2)2 z-3 22+1

1 = A(z—2)(2—3)(2*+1)+B(2—3)(2*+1)+C(2—2)?(2?+1)+(Dz+E) (z—2)*(v—3)

Let x=2:
1=B(-1)(5)= B=-—

Ut

Let x=3:
1=C(1)(10) = C = 5
Equate:

1t 0=A+C+D=—-%=A+D
¢c:1=6A-3B+2C -12E=0=0A—12E=0=A—2E
2:0=—-5A+B—4C -12D+16E = § = =54 — 12D 4+ 16E

solving the system: A= —3-, D= -3 FE =

_ 1
50
So now we have
3 1
r—2 (z-2)2 x-3 z?2+1




Now lets evaluate:

1 1 1 3 1
/ ~35 ~5 10, Z50% T T g,
r—2 (r—2)2 =x-3 x?+1

1 1 3 1
——1 2 —1 3| — ——In|2? + 1| — —tan~ 1 c
55 Ble 21+ 3 g Bl + 31— qgginle” £ 11 = 55 tan” 1(z) +

o
(z-2)

Putting this together with what we integrated so far:

1+ 1In|z” — 72°% + 192° — 332* + 502% — 502% + 322 — 24

3

1 1 1 1
——1 2 —1 3| — Inlz? + 1| — —tan" 1 C
o5 e 2+ 5 + 1g Ile 4 3l = qgginle” + 1 = g5 tan” 1(z) +

(@—2)
O



